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Abstract: 

       Is of Multi effect of the exchange rate on the balance of payments of great importance, at a time which 

is the exchange rate tool of the Organization for International Exchange of contemporary, so it provides 

facilities during exchanges of different which they can transform country's currency into the currency of 

another country and determined on the basis of exchange rates currency, the balance of payments of a State 

is summarized or Register regulator for all transactions international economic and financial, which takes 

place between residents of this state and residents in the rest of the world during the period of time (usually a 

year), and through this balance the state can know the wealth of human and everything in it of prior 

commitments abroad, and then determine the plastic or indebtedness of the state to the outside world. 

        In the context of this study, the relationship between the exchange rate and balance of payments're 

going in this paper is to examine the record of the case of Algeria from 2000 to 2008, and this year, 

depending on the program SPSS (Statistical package for social sciences). 

Key words: the exchange rate, balance of payments, the study standard. 
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.1  

2000-
2008:  

01: 2000-2008.  
  2000  2001  2002  2003  2004  2005  2006  2007  2008  

  7.57  6.19  3.66  7.47  9.25  16.94  17.73  29.55  36.99  

01   75.32  77.27  79.69  77.38  72.07  73.36  72.65  69.37  64.57  
  :  

Bank of ALGERIA, Bulletin statistique trimestriel, N°11 Septembre 2010, p 15, 20. 

Bank of ALGERIA, Bulletin statistique trimestriel, N°01 Septembre 2007, p . 
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:  SPSS  

 :  
Yi = axi + b +Ui 

:  
Yi  :).( 
xi  :).( 
a  :. 
b  :. 
Ui  : 
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 : .  
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a b)
 () .(

:   
02: ).(  

 y X 

  
)( 

)( 

    

7.57 75.32 -0.05649441 0.08446739 -5.64944102 8.44673862 

6.19 77.27 -0.06693267 0.17597372 -6.69326657 17.5973721 

3.66 79.69 -0.08606947 0.28953543 -8.60694673 28.9535429 

7.47 77.38 -0.05725081 0.18113562 -5.72508056 18.1135617 

9.25 72.07 -0.04378697 -0.06804317 -4.37869688 -6.80431722 

16.94 73.36 0.01437983 -0.00750821 1.43798315 -0.75082121 

17.73 72.65 0.02035535 -0.0408259 2.03553545 -4.08259033 

29.55 69.37 0.10976128 -0.19474425 10.9761282 -19.4744252 

36.99 64.57 0.16603709 -0.41999061 16.6037094 -41.9990615 

: .  

spss : 
 /)y : ( 

:  

                                            

           

                         

 /)x:( 

:  

  

                                     

                                    

a b ) :x ()y(
)100 (.  

spss:  
 

Statistics 

Balance 

N Valid 9 

Missing 0 

Mean 15.0389 

Variance 132.206 

Statistics 

Taux 

N Valid 9 

Missing 0 

Mean 73.5200 

Variance 21.310 
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:  
b = -8.405 
a = -0.375  

)a = -0.375 ()b = -8.405(
:  

y = -0.375x – 8.405  
 :.  

x y
x y.  

 . )rxy(  :  

  :  

  

x y  
:  

- +1=rxyx y .  
- -1=rxyx y .  
- 0=rxyx y .  

spss : 
 

 

   r = -0.935  

  

                    

Coefficientsa 

Model 

Unstandardized Coefficients 
Standardized 

Coefficients 

T Sig. B Std. Error Beta 

1 (Constant) -8.405E-6 1.100  .000 1.000 

x -.375 .054 -.935 -6.970 .000 

a. Dependent Variable: y 

Correlations 

  y x 

y Pearson Correlation 1 -.935** 

Sig. (2-tailed)  .000 

N 9 9 

x Pearson Correlation -.935** 1 

Sig. (2-tailed) .000  
N 9 9 

**. Correlation is significant at the 0.01 level (2-tailed). 
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 )r = -0.935(
 .  

 .  
 

.  
 . :

:  
1 /)y: (  

                                                                       

 :  

  

  

2 /)x(  :  

                                                                      

:  

   

    

:  
03 :.  

Y 
)( 

X                  )
(     

-5.64944102 8.44673862 - - - - 

-6.69326657 17.5973721 -6.69326657 -5.6494102 17.5973721 8.44673862 

-8.60694673 28.9535429 -8.60694673 -6.69326657 28.9535429 17.5973721 

-5.72508056 18.1135617 -5.72508056 -8.60694673 18.1135617 28.9535429 

-4.37869688 -6.80431722 -4.37869688 -5.72508056 -6.80431722 18.1135617 
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1.43798315 -0.75082121 1.43798315 -4.37869688 -0.75082121 -6.80431722 

2.03553545 -4.08259033 2.03553545 1.43798315 -4.08259033 -0.75082121 

10.9761282 -19.4744252 10.9761282 2.03553545 -19.4744252 -4.08259033 

16.6037094 -41.9990615 16.6037094 10.9761282 -41.9990615 -19.4744252 

: .  

)spss(  :  
  
 

1 /)y: (  

 

  

 

  

)0.934 (
)y (

)1999(.  
2 /)x(  : 
 

  

  

 

  

  

)0.788 ()x (
)1999( .  

.  
)x,y .( 

 
 

Correlations 

  VAR00006 VAR00007 

VAR00006 Pearson Correlation 1 .934** 

Sig. (2-tailed)  .001 

N 8 8 

VAR00007 Pearson Correlation .934** 1 

Sig. (2-tailed) .001  
N 8 8 

**. Correlation is significant at the 0.01 level (2-tailed). 

Correlations 

  VAR00008 VAR00009 

VAR00008 Pearson Correlation 1 .788* 

Sig. (2-tailed)  .020 

N 8 8 

VAR00009 Pearson Correlation .788* 1 

Sig. (2-tailed) .020  
N 8 8 

*. Correlation is significant at the 0.05 level (2-tailed). 
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 . x y .  

.  

.  
 :  

04 :.  

  : .  

)tx ()ty.(  
.  

y x   t t-1 t t-1 

-5.64944102 8.44673862 - - - - - - 
-6.69326657 17.5973721 -1.04382555 9.15063348 - - - - 
-8.60694673 28.9535429 -1.91368016 11.3561708 -1.91368016 -1.04382555 11.3561708 9.15063348 
-5.72508056 18.1135617 2.88186617 -10.8399812 2.88186617 -1.91368016 -10.8399812 11.3561708 
-4.37869688 -6.80431722 1.34638368 -24.9178789 1.34638368 2.88186617 -24.9178789 -10.8399812 
1.43798315 -0.75082121 5.81668003 6.05349601 5.81668003 1.34638368 6.05349601 -24.9178789 
2.03553545 -4.08259033 0.5975523 -3.33176912 0.5975523 5.81668003 -3.33176912 6.05349601 
10.9761282 -19.4744252 8.94059275 -15.3918349 8.94059275 0.5975523 -15.3918349 -3.33176912 
16.6037094 -41.9990615 5.6275812 -22.5246363 5.6275812 8.94059275 -22.5246363 -15.3918349 
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Correlations 

  dy dy1 

dy Pearson Correlation 1 .140 

Sig. (2-tailed)  .765 

N 7 7 

dy1 Pearson Correlation .140 1 

Sig. (2-tailed) .765  
N 7 7 

Correlations 

  dx dx1 

dx Pearson Correlation 1 .211 

Sig. (2-tailed)  .650 
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:  

a’ = -0.131  

b’ = 1.955 

tb = 1.421 

ta = -1.407 

N 7 7 

dx1 Pearson Correlation .211 1 

Sig. (2-tailed) .650  
N 7 7 

Coefficientsa 

Model 

Unstandardized Coefficients 
Standardized 

Coefficients 

T Sig. B Std. Error Beta 

1 (Constant) 1.955 1.376  1.421 .205 

VAR00015 -.131 .093 -.498 -1.407 .209 

a. Dependent Variable: VAR00014 

Correlations 

  VAR00014 VAR00015 

VAR00014 Pearson Correlation 1 -.498 

Sig. (2-tailed)  .209 

N 8 8 

VAR00015 Pearson Correlation -.498 1 

Sig. (2-tailed) .209  
N 8 8 
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 r x y = -0.498 

r2 = (r x y)
2 = (-0.498)2 = 0.248  

x y   :  

y = -0.131x + 1.955 

2 /.  
(b) 

)1.955% .(
)a ()-0.131 ()1% (

)0.8136 % (  .  
)- 0.498 (

 
 . 

)0.248(24% 
)76% ( 

.  
3 /.  
3/1 .:  

)f(H0 

Fc Ft 
)5% ()n-m-1m (m  .  ft › fc  

H0H0 .  

 

  

  

  ‹H0

.  
3/2 .:  

)t (H0 
  .tc ) (tt )(

H0 H0H0 .  
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tb = 1.421 
ta = -1.407     

)1-1 -8 (=0.05 
t(6, 0.05) = 2.446 

tt › tc a’ b’H0 
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